10

9

3

2

PART No. MATRIX

8

C0

8

88 = MICRO CHANGE M12
DOUBLE ENDED

NUMBER OF POLES:
C=12POLES

HEADS STYLE:

030 =FEMALE STRAIGHT - MALE STRAIGHT|

M12x1

VIEW FROM THE FRONT SIDE

(SEE MATRIX)

SEE PART LISTV

"

OVERMOULD COLOR -
(SEE MATRIX)

DATA ACCORDING TO WN-00001

OPTION WIRING DIAGRAM
30H4 5 MX X sroun :
PIN2 D GREEN
X X X X | PIN3 ) YELLOW
[ | | PIN4 D GREY —
CABLE: UNITS MOULDINGU COLOR : PIN5 ) L]
= 2 = ) 7
H45 =12x0.14mm*) | M = METERS BLANK = (STANDARD BLACK) PINK
PUR BK PIN6 ) —1
A = GREY -z BLUE
_ N
LENGTH EXAMPLES: | | G = YELLOW PINT ) RED —
020=2m Y —
050=5m MATERIAL COUPLING NUT : PINS < BLACK
200 =20 m 1= HEX / STAINLESS STEEL PIN9 ) VOILET L
5 = DERLIN PIN 10 ) GREY/PINK 1
7 = TEFLON
PIN 11 ) RED/BLUE —
H = 2x ID CARRIER PIN 12 ) —
(46.5) L+TOL. (SEE PART LIST) (50)
9 (100)
- PSKHRK] 1 . 1 2 1 2 ) .
EAES ~ j - -
23254 B 1K) e A . —
KR B 15 o | b *| @
sl I — ) N E S
sl (e =S
Soohossslioos: e 1\ R >
R B K]
R B K] —
R3S (L | L || -
LOGO BRAD 1~ PRINTING ON THE CABLE: LOGO BRAD
1 O OVERMOULD COLOR - Molex MOLEX PN ENGINEERING No MXYYWW

PIN 1
PIN 2
PIN 3
PIN 4
PIN 5
PIN 6
PIN 7
PIN 8
PIN 9
PIN 10
PIN 11
PIN 12

VIEW FROM THE FRONT SIDE

SCALE 4:1
SCALE 4T %\(A\)(( -MAC\)I\II_EI):(ACTURING YEAR PART LIST
, CABLE SPECIFICATION: WW - MANUFACTURING WEEK MOLEX PN | ENGINEERING NO. | LENGTH (mm)
NOTE: 1200665404 | 88C030H45M010 | 1000
. ELECTRICAL DATA :
1. IF IN MATRIX IS "H", REFERS ID-CARRIER'S ON THE BOTH SIDES HARNESS CONDUCTOR: 1200669493 | 88C030HASM020 | 2000
MATERIAL: BARE COPPER _ 1200669184 | 88C030H45M030 | 3000
CROSS SECTION: 24 AWG /0.25mm  YOLTAGE RATING ° S0V 1200669494 | 88C030H45M040 | 4000
INSULATION COMPOUND: TPE AMPERAGE RATING : 2A
INSULATION DIAMETER: #1.15:0.10mm INSULATION RESISTANCE : 10°2 MIN. 1200669414 | 88C030H45M040H | 4000
BOM MATING CYCLES : MIN. 100 1200665067 | 88C030H45M050 | 5000
12 SEE PART LIST| /D CARRIER DIA 4-7MMX30MM  |PVC TRANSPARENT %%TI\/IEE OJSSS_EJQR ENVIRONMENTAL - 1200669415 | 88C030H45M050H | 5000
10 1 M12S-SHELL-FEMALE SHIELD  |BRASS | Ni-PLATED DIAMETER: #6.00+0.30mm OPERATING TEMPERATURE : -25°C TO +85°C | 1200668851 | 88C030H45M300H | 30000
9 1 NUT M12 BRA FE KNU NI BRASS Ni-PLATED TABLE 1 1200669748 | 88C030H45M080 8000
8 1 INSERT M12 FE 12P AC SHD PUR BLACK CABLE LENGTH TOLERANCES F%%ES[‘@L THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX ELECTRONIC TECHNOLOGIES, LLC AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
DIMENSION UNITS SCALE CURRENT REV DESC:
7 1 M12 M STR SHLDSLV D7.4 BRASS Ni-PLATED UP TO AND .
OVER TOLERANCE [\/= 0| _mm | 2:1 I
6 1 M12S-Male Coupling Nut 12P BRASS Ni-PLATED INCLUDING ? GENERAL TOLERANCES mo ex
s i NSERT U2 A 22 ACSHORT_[PA___[BLACK N - a— — | N R —
305 (915 +45 _ ———{EC NO: 651920
3 12 M12 MALE Contact-12pol BRASS OVER NICKEL DIVISIONALf 3 pLACES ¢ CHK'D: RSILLER 2020/12/22
1830 | 3660 +89 SRS e . 005 |APPR: RSILLER 2020/12/22 PRODUCT CUSTOMER DRAWING
2 = OVERMOULD TPU BLACK 3660 7320 +165 T PLACE ; (;-3 INITIAL REVISION DOCUMENT NUMBER DOC TYPE| DOC PART|REVISION
1 SEE PART LIST | cable12x0.14blk PUR D6.0 UL/CSA | PUR BLACK 7320 [ 14640 +317 oriaces |- 05 | amen o ANT! s 1200669741 PSD| 000 | A1
ITEM NO.| QTY DESCRIPTION MATERIAL | FINISH/COLOR 14640 | 30500 +610 DRAFT WHERE APPLICABLE THIRD ANGLE PROJECTION DRAWING SERIES MATERIAL NUMBER CUSTOMER SHEET NUMBER
DOCUMENT STATUS| P1 | RELEASE DATE | 2020/12/22  11:01:31 | 30500 | > +2% of length TN DIENSIONS @ “E=1- | A3-SIZE | 120066 | SEE PART LIST | GENERAL MARKET |  10OF 1
9 8 7 6 5 4 3 2 1

DATE: 2020/01/14



10 | 9 | 8 | 7 | 6 | 5 | 4 | 3 2 | 1

M12 12 POLE | PART No MATRIX S M12 12 POLE
;\/—/
FEMALE MALE
S 18] [CLIO 1310 HAID] M X IX]IX] (X IX
\ | \ | | ] || || | | |
le=ricro change M12 INo. of Pales [030-Female/Male Straight lcabte Type [unir ILengin Moldng color
Double Ended C-12 Poles H45 - PUR Black 12x0.4m UL/CSA M-Mefres  M0Z0-2 METRES Blank= Black (Standard) PUR
F-Feet 10505 METRES A<Gray
v T-10xMefres M200-20 METRES Y=Yeliow
T100-100 METRES Coupling Nut Material
Table of length tolerances ?%?g;féggdg{gel
Over Up to and including|Tolerance (+) g=Delrin
7=Teflon Coated
0 305 +19 H=2 pieces of I/D Carrier
305 5 45 \ ; /
o5 1830 56
1830 3660 89
3660 7320 165
7320 14640 317
14640 30500 +610
VIEW FROM THE WIRES SIDE 20500 1= LI AL i VIEW FROM THE WRES SIDE
— Pin | Wire_color Pin | Wire color
1 WHITE 1 WHITE
2 BROWN 2 BROWN
3 GREEN 3 GREEN
4 YELLOW 4 YELLOW
5 GRAY 5 GRAY
6 PINK L-SEE MATRIX +Tal. ) PINK
7 BLUE 7 BLUE
8 RED 6 8 RED
9 [ BLACK 100 REF g | BLACK
10 VIOLET 10 VIOLET
11 GRAY/PINK i GRAY /PINK
12 RED/BLUE r 1T 1 = 12 RED/BLUE
» - 317 IR =

y \MD CARRIER IF IN THE MATRIX IS *H" VIEW FROM THE FRONT SIDE

CABLE PRINTING: Molex "Molex PN" "Engineering No.” MXYYWW

SEE TABLE / SEE TABLE/ /

Bill of Materials

DATE ACCORDING TO WN-00001

WHERE: YY-year, WW-week

0] 1 [INSERT M2 2P MALE ULTRAMD  |BLACK
9 | 12 | conTaCT MALE CLZn38Pb2 | CuNi AOS
8 | 1 | COUPLING NUT MALE M2 |SEE MATRIX |SEE MATRIX
- % % % QUALITY GENERAL TOLERANCES DIMENSION STYLE SCALE DESIGN UNITS ‘H_HRD ANGLE
7 D CARRER SEE MATRIX |SEE MATRIX L 222 |SymBoLs| (UNLESS SPECIFIED) MM ONLY — METRIC | © CIoR5 T ION
| 6 ~ | MOLDING MATERIAL SEE MATRIX |SEE MATRIX n g g g _— mm INCH DRAWN BY DATE TITLE
5 | 1 | 0RNG FPM RED NSNS \z\W-0 [ZPLACES[E--- [E---  AKONDRACIUK 2015/09/09 CSE M12 M12 12P AC FE
DT> =k 3 PLACES|E—- |[+-——  [creckeo By DATE STR PUR MA STR XM DE
4 12 CONTACT FEMALE CuZn38Pb2 CuNi2 AuCo0.6 o g z }7 ﬁ g W:O 2 PLACES|+ -——- —— MMAJEAT 2015/09/09 UNSH BK BRA AU
3 | 1 | COUPLING NUT FEMALE M2 |SEE MATRIX |SEE MATRX L8832/d TPLACE [E-== [2-—= |aPPROVED BY OATE I
2 | 1 | NSERT M12 2P FEMALE  |ELASTOLLAN |BLACK SeSsZ 0 PLACE [£-—- [¥-—-  MIWASIECZKO 2015/09/29 mMoiex
- 3 6 g =5 & ANGULAR + 1 ° MATERIAL NO. DOCUMENT NO. SHEET NO.
! CABLE 12x0.14 PR ELACK a5 DRAFT WHERE APPLICABLEL SEE MATRIX SD-120066-060 1 OF 1
ITEM |QTY. | DESCRIPTION MATERAL | FINISH Swoo= MUST REMAIN SZE| THIS DRAWING CONTAINS INFORMATION THAT IS PROPRETARY TO MOLEX
A Z WITHIN” DIMENSIONS /A 3|INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION

b_frame_A3_P_ME_T
Rev E1 2012/01/25 9 8 7 6 5 | 4 | 3 | 2 | 1




10 | 9 | 8 | 7 | 6 | 5 | 4 | 3 2 | 1

M12 12 POLE | PART No MATRIX S M12 12 POLE
;\/—/
FEMALE MALE
S 18] [CLIO 1310 HAID] M X IX]IX] (X IX
\ | \ | | ] || || | | |
le=ricro change M12 INo. of Pales [030-Female/Male Straight lcabte Type [unir ILengin Moldng color
Double Ended C-12 Poles H45 - PUR Black 12x0.4m UL/CSA M-Mefres  M0Z0-2 METRES Blank= Black (Standard) PUR
F-Feet 10505 METRES A<Gray
v T-10xMefres M200-20 METRES Y=Yeliow
T100-100 METRES Coupling Nut Material
Table of length tolerances ?%?g;féggdg{gel
Over Up to and including|Tolerance (+) g=Delrin
7=Teflon Coated
0 305 +19 H=2 pieces of I/D Carrier
305 5 45 \ ; /
o5 1830 56
1830 3660 89
3660 7320 165
7320 14640 317
14640 30500 +610
VIEW FROM THE WIRES SIDE 20500 1= LI AL i VIEW FROM THE WRES SIDE
— Pin | Wire_color Pin | Wire color
1 WHITE 1 WHITE
2 BROWN 2 BROWN
3 GREEN 3 GREEN
4 YELLOW 4 YELLOW
5 GRAY 5 GRAY
6 PINK L-SEE MATRIX +Tal. ) PINK
7 BLUE 7 BLUE
8 RED 6 8 RED
9 [ BLACK 100 REF g | BLACK
10 VIOLET 10 VIOLET
11 GRAY/PINK i GRAY /PINK
12 RED/BLUE r 1T 1 = 12 RED/BLUE
» - 317 IR =

y \MD CARRIER IF IN THE MATRIX IS *H" VIEW FROM THE FRONT SIDE

CABLE PRINTING: Molex "Molex PN" "Engineering No.” MXYYWW

SEE TABLE / SEE TABLE/ /

Bill of Materials

DATE ACCORDING TO WN-00001

WHERE: YY-year, WW-week

0] 1 [INSERT M2 2P MALE ULTRAMD  |BLACK
9 | 12 | conTaCT MALE CLZn38Pb2 | CuNi AOS
8 | 1 | COUPLING NUT MALE M2 |SEE MATRIX |SEE MATRIX
- % % % QUALITY GENERAL TOLERANCES DIMENSION STYLE SCALE DESIGN UNITS ‘H_HRD ANGLE
7 D CARRER SEE MATRIX |SEE MATRIX L 222 |SymBoLs| (UNLESS SPECIFIED) MM ONLY — METRIC | © CIoR5 T ION
| 6 ~ | MOLDING MATERIAL SEE MATRIX |SEE MATRIX n g g g _— mm INCH DRAWN BY DATE TITLE
5 | 1 | 0RNG FPM RED NSNS \z\W-0 [ZPLACES[E--- [E---  AKONDRACIUK 2015/09/09 CSE M12 M12 12P AC FE
DT> =k 3 PLACES|E—- |[+-——  [creckeo By DATE STR PUR MA STR XM DE
4 12 CONTACT FEMALE CuZn38Pb2 CuNi2 AuCo0.6 o g z }7 ﬁ g W:O 2 PLACES|+ -——- —— MMAJEAT 2015/09/09 UNSH BK BRA AU
3 | 1 | COUPLING NUT FEMALE M2 |SEE MATRIX |SEE MATRX L8832/d TPLACE [E-== [2-—= |aPPROVED BY OATE I
2 | 1 | NSERT M12 2P FEMALE  |ELASTOLLAN |BLACK SeSsZ 0 PLACE [£-—- [¥-—-  MIWASIECZKO 2015/09/29 mMoiex
- 3 6 g =5 & ANGULAR + 1 ° MATERIAL NO. DOCUMENT NO. SHEET NO.
! CABLE 12x0.14 PR ELACK a5 DRAFT WHERE APPLICABLEL SEE MATRIX SD-120066-060 1 OF 1
ITEM |QTY. | DESCRIPTION MATERAL | FINISH Swoo= MUST REMAIN SZE| THIS DRAWING CONTAINS INFORMATION THAT IS PROPRETARY TO MOLEX
A Z WITHIN” DIMENSIONS /A 3|INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION

b_frame_A3_P_ME_T
Rev E1 2012/01/25 9 8 7 6 5 | 4 | 3 | 2 | 1




